




852 - 13 × 8 - 102 × 3 - 1 = ?2

A.21
B.23
C.24
D.20
E.18



60 - 38 ÷ 19 × 26 = ?

A.8
B.6
C.5
D.4
E.9



163 + 7 × 11 - 9 = ?  × 11

A.11
B.21
C.35
D.25
E.43



312 - 928 - 52 = 2 × ? ÷ 11

A.22
B.34
C.45
D.44
E.76



256 ÷ 23 × ? = 16% of 3000

A.10
B.30
C.20
D.15
E.12



√1024 × 11 + 8 × ? = 32 × 16

A.-30
B. 24
C.-16
D. 20
E.-32



24 + √81 ÷ 3 × ? = 30

A.1
B.2
C.3
D.4
E.5



621 ÷ (3)3 × 2 – 37 = √?

A.9
B.27
C.51
D.81
E.72



165 + 156 ÷ 13 – 32 × 19 = ?

A.12
B.6
C.16
D.22
E.2



30% of 400 + 45% of 800 = ? + 25% of 1200

A.150
B.200
C.220
D.160
E.180



The following table shows total number of students and the percentage 
of the girls in different years in different schools. Total number of student 
consist of number of Boys and number of Girls.
निम्ि तानिका विनिन्ि स्कूिों में विनिन्ि िर्षों में छात्रों की कुि संख्या 
और िड़ककयों के प्रनतशत को दशााती है। छात्रों की कुि संख्या में िड़कों 
की संख्या और िड़ककयों की संख्या शानमि है।

Year 1999 2005

School
Total 

students
Percentage 

of girls
Total 

students
Percentage 

of girls

School A 300 40% 500 50%

School B 200 30% 600 75%

School C 400 60% 800 30%



Find the ratio between the numbers of boys of school B in 2005 to the number of the girls 

of school A in 1999?

2005 में स्कूल B के लड़कों की संख्या और 1999 में स्कूल A की लड़ककयों की संख्या के बीच का अनुपात 

ज्ञात कीकिए।

A.5 : 4
B.2 : 5
C. 5 : 3
D.3 : 7
E. 3 : 5

Year 1999 2005

School Total
% of 
girls

Total
% of 
girls

A 300 40% 500 50%

B 200 30% 600 75%

C 400 60% 800 30%



What is the difference between total students of schools A and B in 1999 to total number of 

students of school C in 1999 and 2005?

1999 में स्कूल A और B के कुल छात्रों और 1999 और 2005 में स्कूल C के छात्रों की कुल संख्या के बीच 

का अंतर क्या है?

A.300
B.400
C. 500
D.600
E. 700

Year 1999 2005

School Total
% of 
girls

Total
% of 
girls

A 300 40% 500 50%

B 200 30% 600 75%

C 400 60% 800 30%



Find the average of all girls of three schools in 1999?

1999 में तीन स्कूलों की सभी लड़ककयों का औसत ज्ञात कीकिये?

A.100
B.130
C. 120
D.140
E. 110

Year 1999 2005

School Total
% of 
girls

Total
% of 
girls

A 300 40% 500 50%

B 200 30% 600 75%

C 400 60% 800 30%



The number of the girls of school A in 1999 is approximately what percentage more/less 

than the number of boys of school B in 2005?

1999 में स्कूल A की लड़ककयों की संख्या 2005 में स्कूल B के लड़कों की संख्या से लगभग ककतने प्रकतशत 

अकिक/कम है?

A.25%
B.20%
C. 30%
D.40%
E. 10%

Year 1999 2005

School Total
% of 
girls

Total
% of 
girls

A 300 40% 500 50%

B 200 30% 600 75%

C 400 60% 800 30%



Find the total number of boys in all the three school together in year 1999 and 2005?

वर्ष 1999 और 2005 में तीनों स्कूलों में लड़कों की कुल संख्या ज्ञात कीकिये?

A.1210
B.1960
C. 1000
D.1440
E. 1690

Year 1999 2005

School Total
% of 
girls

Total
% of 
girls

A 300 40% 500 50%

B 200 30% 600 75%

C 400 60% 800 30%



11,   31,   69, 131, 223, 352, 521

A.69
B.131
C.223
D.352
E.521



4,   11,   32, 92, 284, 851

A.92
B.11
C.284
D.32
E.851



0.25, 1.25, 0.5, 4.5, 22, 75

A.75
B.0.5
C.4.5
D.22
E.1.25



12, 11,   20, 57, 234,   1115

A.1115
B.57
C.20
D.11
E.234



51, 52,   56,   83, 99,   224,   259, 603

A.224
B.259
C.603
D.83
E.52



There are 37 students in a class and the average of the age of the class is 16 years. If the 

age of the lady teacher is also included then the average increased by 6 months. Find the 

age of the lady teacher ?

एक कक्षा में 37 छात्र हैं और कक्षा की आयु का औसत 16 वर्ष है. यकि मकहला कशक्षक की आयु को भी 

शाकमल कर कलया िाए तो औसत में 6 महीने की वकृि हुई। मकहला कशक्षक की आयु ज्ञात कीकिये?

A.33 years
B.34 years
C. 36 years
D.35 years
E. 37 years



The ratio of expenditure and savings of a person is 7 : 3. If income increases by 20% and 

expenditure increases by 30%, then find decrease percentage in savings ?

ककसी व्यकि के व्यय और बचत का अनुपात 7: 3 है। यकि आय में 20% की वकृि होती है और व्यय में 30% 

की वकृि होती है, तो बचत में कमी प्रकतशत ज्ञात कीकिये ?

A.6.67%
B.3.33%
C. 10%
D.12.5%
E. 25%



A invests 10000rs for 2 years at 10% per annum while B invests 18000rs for 3 years at 

20% per annum. Then find the difference between the simple interest earned by A and B ?

A 2 वर्ों के कलए 10% प्रकत वर्ष की िर से 10000 रुपये का कनवेश करता है िबकक B 20% प्रकत वर्ष की िर 

से 3 वर्ों के कलए 18000 रुपये का कनवेश करता है। तो A और B द्वारा अकिषत सािारण ब्याि के बीच का 

अंतर ज्ञात कीकिये?

A.Rs. 9400
B.Rs. 8200
C. Rs. 8500
D.Rs. 8800
E. Rs. 9200



A man is thrice as fast as a women and a woman is twice as fast as a boy. If all of them can do 

a work in 18 days. than a boy can do the work in how many days?

एक पुरुर् एक मकहला की तुलना में तीन गुना तेि है और एक मकहला एक लड़के की तुलना में िोगुनी तेि है। यकि 

वे सभी एक कायष को 18 किनों में पूरा कर सकते हैं। एक लड़का उस काम को ककतने किनों में कर सकता है?

A.144 days
B.121 days
C. 162 days
D.96 days
E. 54 days



R's present age is 6/5 times her age at the time of her marriage. She got married 8 years 

ago. If R's sister was 10 younger than her at the time of marriage. Find the present age of 

R's sister?

R की वतषमान आयु उसकी शािी के समय उसकी आयु का 6/5 गुना है। आठ साल पहले उसकी शािी हुई थी। 

यकि शािी के समय R की बहन उससे 10 छोटी थी। R की बहन की वतषमान आयु ज्ञात कीकिये?

A.35 years
B.32 years
C. 36 years
D.38 years
E. 40 years


